5.1 Solving System of Equations by Graphing

System of Equations: Consists of 2 or more linear
equations in the same variables.
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Check which ordered pair is a solution? (3, 2) or (2><1)
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Ex1) Solve the systems equation by graphing.
Solution: the point (x, y) where the two lines intercept.
So, graph both lines and find the point of interception.
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b) 3x-2y=4 Need to put both equationiny=mx+b
x=2y=-4 form first.

) 3?11-*2.3:'4 ¥
-zj='3><:+'+
3
==X-21
Mi_i% _ TSul'l;t:;h
- = - 108 6 -4 -2 L/2 4 6 8 10
2) X-2Y \ 1 .- !
’lS:-I}(-q 4t
JraK+1 i
-5:
|{1.j):ll-|.'%) \ 10}




2x-3y=-12
Iry) -
2x+y=-4
10}
1| - — - - -
) 33" 2 S‘uluwﬁ—




Linear Systems Having No Solution, One
Solution or Infinite Solution
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Ex2) Solve the system: Same Slope: Paeallel !l
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5.2 Solving System of Equations by Substitution

Substitution Method: To put 1 equation into the
other equation and solve for x or y.

Ex3) -
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_14 Step:
+ 1) In the 2" equation, y = 2x, so put 2x into the
y=2x 15t equation in place of y. Then solve for x.

2) Once you get x, put x into one of the 2
equation to find vy.
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( Step:
Ex4 4y =-10 1) You need to get x or y alone (whichever is
) - easier.) So, x =y + 4

,Tx.._ y=4 2) Now puty + 4 in for x in the first equation,
. then solve for y.
éas e 3) Once you get y, then put y into the easier
to Solwi equation to find x.
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